SF60[m 2 A A=V R G B AHE = B R S R
Me=T LT A THR284E4 1 15 1
AYLEYIGC Pk 284 H 15 H (42) Jﬂ(zakﬁ:) 42 H RSV #6838 i B
q 5
o PrE ouT IN [ GROSS
1 HE EH  [7U— 35 35 70 [E@EIavY
o [WH ¥  [TMGBIATTHTFI— 35 36 71 [E@EJOvy
3| | AR foE |7V 33 38 1 |mEJavs
Al [ R [7V— 37 35 72 |[E@EJAavy
5| [BRERE [7V— 37 36 3 |[E@EJAvy
6 | MM EW [RX/ar72r—1 38 36 4 |m@mEIovs
| Es [P— 38 36 74 |E@EIOvY
8] |8 PROL [7YU— 35 39 74 |E@EIOyy
9 | A £ [7U— 34 40 74 |E@@EIJOvy
o] [ HRalr K [pqav=anr-qo-ronm 37 38 75 |E@EIavY
T I = I B 37 38 5 |BEEIavy
12] | HFEBRIT [ TMGBIANITHTI— 39 37 76 |EfEIOvy
13 [N S b = 39 37 6 |EEIAvY
140 | [Ff g el [Feeda o —7 39 37 76 |E@EInvY
15| [ AN [qavanrq - 37 39 76 |E@EJnyy
16] | XA $IK it s — 36 40 6 |[EFEJOvy
17 [ R [7U— 36 40 6 |[E@fIavy
18] | iy Rk [Riba~tes— 39 38 7 |E@EIayy
9] WA {G#E [ERT2s /5 F 39 38 77 |E@EIavy
2003% | [LUA =B [7V— 39 38 7 |B@EIavy
21 AZ I |=vrmaanrers— 38 39 DY
22 mis B |[PU— 37 40 77 |E@EIavs
23| |kl HH  |KGRZZF7 36 41 (=
24| | KA alox  [Hikanzs77 36 41 77 |E@EIavy
25 KW IRR | FEEAATIvraT 42 36 78 |[B@EIovy
26 [ B B [Tt s 39 39 78 |B@EIAvY
27 e 2R 70— 39 39 TR
28] [ FiAR 2 [Eemranrwoo— 39 39 78 |@@EJoyy
29 5 HEZ 7)— 38 40 8 |mEJAvY
30 EAEEN - 37 41 78 |[mEJOyy
3l [ =k e [PV 38 40 78 [mETAvY
32 HAT & [ TMGBIA T T h 73— 37 41 78 |E@@mEJoyy
33| [ )l %, [7V— 41 38 79 |E@Invy
34 T EfE | TMGBIA 7T h 73— 40 39 79 |E@mEJoyy
35| | AR |G rtesr—171 39 40 79 |E@EIayY
36| | A WE V- 38 41 79 |@#EInvs
37 I TG a7 2 — 36 43 79 |E@EIEvY
38 e il TINI )T AT 38 11 79 BRF o O’
9P| Mo 5 BhhW—ar77~=a] 45 35 80 [E@EIovy
40 Bl % [7V— 40 40 80 |EmIAvY
41 A JERE  [REEa LT s — 40 40 80 |B@EIAvY
42| | ZZH HRE [7v— 39 41 80 |E@EIOvY
43| | BIHE BB [T 2s 39 41 80 [M@EJavy
MEADN - e 39 41 80 |Bi@EIAvY
45 iliEEEE 71— 38 42 80 [E&@IavY
46 — K TN RT)NT AT 37 43 80 I Ovy
TP | S w2 RIS TS — 43 38 81 |B@EIAvY
48] [T #0  |RHEIA TR s — 42 39 81 |B@EIAvY
49[2%¢ |A-P-Garca(F /{7 — 42 39 81 el =P
5ol [EIE B [km=n 74— 41 40 81 |B@@mJovy
1| | HEMH YRl [Westil 72— 40 41 81 [E@FEIOvY
52| | i JEK  [KGRZF7 40 41 81 [M®mJOvy
53] % 4‘4( g [rananoy z<w5 40 41 31 EEI vy
pa] [ a3 HR [7U— 10 41 81 |M#EIOvy
55 @ﬁ EECII N e 40 41 81 |B@EIAvY




R4

AT

it

ouUT IN [ GROSS
6| | =) RIR|[7y— 40 41 81 |B@EIAvY
57| | EREr A =y AT EER A —] 39 42 81 |B@EIAvy
p8% | ATH AKHR [T —7 43 39 82 |B@EIAvY
29 HNN R 3R /a0727—1 43 39 ]9 Ao Ovy
60] [ B8 [Freranz A1 A1 82 |[B@FJAvY
61] | W AlE  [REIL T — 40 42 82 |B@EIOvy
62 | IO &Fe  [7U— 40 42 82 |B@EIAvY
63| | R AEx: [Hikanrs77 40 42 82 |E@EIOvY
64| [N BH Bk Ts77 43 40 83 |E@EJovs
6o]% | LH F&— [l Ttry— 42 41 83 |B@EIAvY
67 | A 4k KGRZF7 41 42 83 |B®Iavy
66] | AN/ IHAN  [HKRI TR — 41 42 83 [B@FEIOvY
0% | oRKH = W72 )5 K 40 43 83 |B@EIAvY
69] | IR&h #dn | TMGBI AT T A7 3— 40 43 83 |[E@FEJIOvY
68| [ AZ2iH TSI [PU— 40 43 83 |E@EIOvY
1] [ ARH KEe  [7V— 43 41 84 |E@EJovy
2| | FPK =M [TV— 43 41 84 |B@EIAvY
3 | Z=9L | TMGBIAZT h7i— 40 44 84 [B@FEIOvY
T4l | e [7y— 40 44 84 |EFEIAvY
P [ BH L — [TMGBIAZTHFI— 39 45 84 |BIFEIOYY
76] | KiE FnE | TMGBIA 77 73— 39 45 84 |EFIOvY
77 H 7] [R729IATTHTI— 39 45 84 |B@EIAvY
8] | AP BT [FRexanoh—5 42 43 85 |EAFEIOvY
9] IR R [ews2s /50 F 42 43 85 |E@EIOvY
80] [TRA BL [ TMGBILTTHTI— 41 44 85 |BAEIOvY
81 Vek2 R SFRE|TARINT Z<v0T 46 40 36 EEI vy
82[3% | =l 1AL HOS F /L7 AN—R[A) | 45 41 36 EFEIOvy
83 J:E]?’ %/Lﬁ VAL A=V % 45 41 86 I Ovy
s [ AR Fhik [ 7 4 —KIEJE 45 41 86 [BAFEIOvY
85| [TFF B [HEHarztrz— 44 42 86 |E@JOvy
86 AR S |70 — 43 43 86 |E@EIavY
873 [ IUH o)A |HOS /L7 A=A 39 47 86 E@EJOvy
88| | IEAN 7y [REkIA T2 — 14 43 87 |E@EIavy
89 [JIMKE B-F [PV —r 7V —F k)| 44 43 87 |B@EIAvY
90| [ =R |FnTkra—171 46 42 88 |BIFEIOYY
91 BiH A |[TMGBI A 77 H73— 42 46 88 |[E@EIOvY
92l AN FE  earrs57 42 46 88 |EFIOvY
93 IR A0 [Bqaman T4 in 46 43 89 Bl Oy
94| | FIVH {7 | TMGBI /L 77 A7 31— 46 44 90 [E@IAvy
95] |HEA 1 [ravanz-qr oo 45 45 90 |[EFEJOvy
96| [ Z7E PTIEL  |OGM=L 7754 44 46 90 [E@EJovy
g7 | (U Ew] [7Y— 42 48 90 [B@Javy
98| | ML) =Wy [RX/FnT2s—n 44 49 93 |[EAFEIOvy
99 [ WH FTHZ [ TMGBIA 7T h 73— 42 52 94 |BI@EIOvY
100] | - 52 7V — 46 48 94 |madIOvY
101 MEIRFE |[TMGBIA 7T AT I— 47 48 95 |E@Javy
102 [ HHHT R [70— 54 42 96 |mmInvy
103 [/MREE  [Groker—171 50 46 96 [BFEIovy
104] [JKFF FH¥E [ TMGBIALTTHFI— 48 51 99 |E@EIOvy
105 HT E1T [ TMGBIA 77 h 73— 47 53 100 [B:EIOvY
106% | A &4 [REry—aL> NR E@EI Ovy
107] | oKER FIBH  PREs#ran e s — NR  |E@EIOvY




